STD 6 - YEAR 2020
SOCIAL STUDIES & C.R.E

~ , Time: lhrs 40 min
READ THESE INSTRUCTIONS CAREFULLY.
1. You have been given this question paper and a separate answer sheet. The question paper contains 50 questions.
2. Make sure that you have written on the answer sheet.
(i) Your name (ii) Name of your school
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Study the map of Pwaka area and answer 3. The main means of transport in Pwaka area
questions 1 - 7 p is '
1. People of Pwaka atea are mainly o A. road transport

A. Hindus " - B. Pagans B. air transport

C. Christians D. Muslims C. railway transport

D. water transport

4.  What evidence in the map shows that
Pwaka area is an administrative centre?
A. A railway station

2. Which one of the following economic
activities is not carried out in Pwaka area?
A. Crop growing ’

B. Fishing B hief’
C. Keeping livestock ' C. éo(ljmgfcs)fcfir:rép
D- Transportation D. A police station
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10.

11.

12.

13.

14.

15.

16.

"~ What is the direction of the ciu_arry from the

church?.

A. South West B. North East

C. West D. East

The main cash crop grown in Pwaka area is
A. beans B. pyrethrum

C. sugarcane D. maize

River Bala flows towards the

A.East B. West-

C. South D. North

Three of the following belong to the
Mijikenda group. Which one does not?
A.Duruma B. Jibana

C.Kauma D. Taita

The famous hot springs of lake Bogorla is
located in which county?

A.Laikipia B. Baringo

. C.Nakuru D. Kericko
Which one of the following is a service
industry?
A.Bakery B. Car manufacture
C.Banking D. Tea factory

Which of the following countries in East
Africa is correctly matched with its capital

city?

A. Ethiopia — Khartoum
B.SouthSudan — Dodoma
C.Somalia — Mogadishu
D. Tanzania — AddisAbaba

Where in Kenya is soda ash mined?

A.in the Kerio valley

B. on lake Magadi

C.onlake Turkana

D. along the Coast

Three of the following are elements of a
good citizen. Which one is not?
A.Tribalism B. Patriotism

C. Obedience D. Loyalty

The instrument used to measure the amount
of rainfall is called

A.windvane B. anemometer

C. raingauge D. windsock
Elections in Kenya come after

A. 10 years B. 5 years

C.'15 years D. 8 years

The money which the government collects
from its citizen for the expenditure is called
A.income B. fines

C. revenue D. grants
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17. Whatis subsistence farming?
A. Growing crops and trees together
B. Growing crops and keeping animals
C. Growing food for home consumption
D. Growing food for sale
18. Which Tanzanian leader led the Maji May
rebellion in Southern Tanganyika?
A. Abushiri Bin Salim
B. Chief Mkwawa
C. Chief Mivambo
D. Kinjiketile Ngwale
19. Which one of the following is true about
maize growing in both Kenya and Tanzania
A. in both countries farmers use hired
labourers
B. In both countries maize is grown by
small scale farmers
C. In both countries farmers use machines
in most of the operations
D. In both countries maize is grown in
plantations
20. Which one of the following communities
participated in the long distance trade in
the 19th Century?
A. Abagusii B. Agikuyu
C. Maasai D. Akamba
21. The following are rivers found in Kenya.
Which one does not support an irrigation
scheme?
A. River Perkerra
C. River Nzoia

B. River Athi
D. River Tana

Use the diagram below to answer questions 22 - 23

22. The main economic activity likely to be
practised on the side of the'ﬁgure marked Z
is
A.mining B. dairy farming
C. pastoralism D. fishing

23. Which one of the following towns is likely
to experience the above type of rainfall?
A. Kilifi B. Kisumu
C. Kampala D. Naivasha
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52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

Which of these lakes is found in the

Western branch of the Rift valley?

A. Lake Victoria B.Lake Albert

C.Lake Manyara D.Lake Natron

Which of these groups consists only of

pastoral communities?

A. Rendille and the Abaluhyia

B. Somali and the Samburu

C. Gusii and Mijikenda

D. Boran and the Agikuyu

Which kind of rainfall is usually

accompanied by thunder storms and

lightening?

A. Cyclonic B. Convectional

C. Orographic D. Relief

A group of people relaied by blood or

marriage forms a

A. an age- group B. a family

C. clan D. generation

The official language of the Ethiopian

people is

A. Tigre B. Cushitic

C. Amharic D. Arabic

The government carries out a population

census mainly to

A. know the population growth rate in a
country

B. be able to plan for the people’s needs

C. know the number of births

D. know the number of deaths

The Konza- Magadi railway branch is

mainly used in transporting

A. flourspar B. diatomite

C. soda ash D. limestone

Who among the following personalities

resisted British rule?

A. Koitalel arap Samoei

B. Nabongo Mumia

C. Mkwawa

D. Kinjeketile Ngwale

What is the minimum age required in order

for a Kenyan citizen to vote?

A. 35 years B. 18 years

C. 21 years D. 20 years

-

SECTIONB

CHRISTIAN RELIGIOUS EDUCATION

Which one of the following statements
explains why human beings are special as

compared to the rest of God’s creation?

A. They are like God and they resemble Him

—————

-

5

62.

63.
64.
6S.

66.

67.
68.

69.

70.
r 71.

72.

B. He was the only one created on earth

C. They were placed in the garden of Eden
D. They had raany children

The parents of Moses were and

A. Cain, Abel B. Amram, Jochebed
C.Isaac, Rebecca D.Naomi, Elikana
Who among the following was killed
because of his faith

A.Amos B. Elijah

C. Stephen D. Moses

God called Abraham when he was still living,
in

A.Ur B.Canaan

C.Egypt D. Haran

Who among the follwoing people was
rescued from floods

A.Moses .. B.Abraham

C. Noah D. Joseph

Which one of the following mountains did
God give the Israeelites the ten

commandments?
A. Sinai B. Nebo
C.Ararat D. Carmel

-Which one of the following books is the in

the old testament?

A. Psalms B. Matthew
C.Romans D.Revelation

When king Herod wanted to kill baby Jesus,
Joseph and Mary went to hide in
A.Jerusalem - B.Egypt

C. Bethlehem D. Nazareth

Who among the following people told Jesus
that Lazarus was sick

A.Lydia and Martha

B. Dorcas and Lydia

C. Martha and Mary

D. Dorcas and Mary

In which place did Jacob dream of a stairway

from heaven to earth

A. Bethel B. Jericho

C. Midian D. Jerusalem

Which commandment was broken by king
Ahab and his wife Jezebel?

A.7th B. 5th

C. 6th D. 10th

In the parable of the sower, the seeds
represents

A.God

B. Soil
C. People who hear the word and satan takes
itaway :

| D.word of God
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74.

75.

81.

' 76.

77.

78.

79.

80.

The following are fruits of the Holy spirit

except

A. humility B. gooc.ness
C.joy D. faith

The first passover took place in
A.Egypt. B.Jerusalem
C.Canaan D. Galilee

The following are values needed during the
breaking of bread except

A. patience B. tolerance

C. dishonesty D. thankfulness

In the miracle of feeding the five thousand
peole, Jesus showed that

A. He had alot of bread

B. He wanted to give them bread

C. He cares for our physical needs

D. He wanted to imrpess them

What gifts were presented to Jesus by the
wisemen?

A. Gold, myrr and frankincense

B. Frankincense, silver and gold
C.Bronze, gold and myrrh \

D. Silver, gold

Who among the following people helped
Jesus to carry the cross

A.Judas

B. Peter

C. Sinion of Cyrene .

D.Joseph of Arimathea. .

Who denied Jesus three times?

A.John -

B. Thomas

C. Simon Peter

D. Judas Iscariot

- ‘The commandment that tells us to respect
‘our parents promlses us

A.alotof wealth

B.happylife

C. long life N

D. good educaiton o

The dlsmples of Jesus who were brothers
were -

" A.John and James

B. Judas and John

C.J ohn and Peter

D. John and Andrew

Whlch of the following is the best way to
use our free time?

A. Working in our shambas

B. Visiting:and helping the needy

C. Watchin gTV

D. Visiting friends

83.

84.

85.

86.

87.

88.

89.

90.

John a std 7 boy found some money in the
field. What was the best thing for him to do
A. share the money with friends

B. hide and buy things for himself

C. keep and give his mother at home

- D. give the money to the teacher on duty to

find the owner

John is a christian. He is a class six pupil

whose house got burnt during the clashes.

How can John help bring light to the world?

A. Show love to the people who burnt their

~home

B. Ask God to punishe the people who burnt
their home

C. Hate the people who burnt his house

D. Change his name so he is loved by their
neighbours

Three of the following are gcod deeds

Christians do to attract people to come to °

Jesus Christ. Which one is not?

A. accepting only christians in their homes

B. share food and ciothes with the needy
people

C. visit and pray for the sick people

D. visiting prisoners in prison,

Which one of the following is not a result

of irresponsible boy/girl relationship?

A.Teenage pregnancy

B.HIV and AIDS

C. Happiness in the family

D. Sexually transmitted diseases

Simon Peter denied Jesus times.
A. four B. three

C.two D. five

Why did people comlain when Jesus had a
meal with Zaccheaus?

A.He was a thief
-B. He was a tax collector

C.Hewas asinner

D: He was a short men

As christians we should imitate Jesus Christ
-as aperfect leader by

A.loving those who hate us

B. telling lies

C. hating those who hate us

D. beating our enemies

Jesus used stories with hidden meaning to
teach the word of God. The stories were
called

A. proverbs
C.riddles

B.songs
D. parables
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24.

26.

27.

The area around the lakes and highland

regions of Eastern Africa have

A. dense population

B. low population

C. medium population

D. sparse population

The foilowing are functions of a certain

mineral

i) It is used in the preservation of food

i1) Used in the baking and canning
industries

iii) Used in the preparation of some
medicine

iv) It is used in paper industry

The mineral described above is

A. diatomite B.salt

C.soda ash D. fluorspar

Mekatilili wa Menza and Koitalel arap

Samoei had one thing in common. It was that

A. they were both long distance traders

B. they welcomed the colonial power in
their territories :

C. they both originated from the same area

D. they resisted the Europeans invasion in
their communities.

Which one of the following combinations

shows the plains found in North Eastern

Kenya?

A. Bokhol, Kaputei and Ngoso

B. Bilesha, Sardindiba, Awara

C. Awara, Lotikipi, Bokhol

D. Lotikipi, Kerio, Loita

Use the diagram below to answer questions 28 - 30

P

28.

29.

The lake marked P can be grouped as
A. arift valley lake

B. acrater lake

C. faulting lake .

D. adownwarping lake

The part marked W is called a
A. larva B. crater
C.vent D. cohelet

30.

31.

32.

33.

34.

3S.

36.

Which one of the following mountains was
not formed through the above process?
A. Mt. Kilimanjaro
B. Mt. Kenya
C.Mt. Longonot
D. Ruwenzori mountains
The illegal hunting of wild animals is called
A. hunting B. insecurity
C.poaching D. terrorism
Three of the following are ways in which
people can become citizens of Kenya.
Which one is not?
A. By recommendation
B. By naturalization
C. By registration
D. By birth
Which of the following gives the correct
meaning of wildlife?
A.ltis the plants and birds found in the
forest
B. Its the plants, birds, insects and animals
found in their natural surroundings.
C. The wild animals only
D. The plants,insects and birds only
Which of the following countries of Eastern
Africa lie in the Northern hemisphere?
A. Kenya and Ethiopia
B. Uganda and Tanzania
C. Sudan and Eritrea
D. Djibouti and Somalia
Three of the following statements are true
about lines of longitude. Which one is not?
A.Longitudes are parallel lines
B. Longitudes are used to calculate time
C. Longitudes are numbered East and West
D. Longitudes meet at the North and
South poles
The following describe a traditional leader
in Kenya.
i) Was a long distance trader
ii) Prophesied about the construction of
the railway in his area
iii) Was a medicineman
iv) He died in 1904
Who was this leader?
A. Waiyaki wa Hinga
B. Koitalel Arap Samoei
C.Masaku

D. Mekatilili wa Menza
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Use the map of Eastern Africa to answer

questions 37 - 41

37.

38.

39.

40.

41.

42.

43.

The capital city of the country marked R is
A. Dodorna B. Mogadishu

C. Khartoum D. Asmara

The water mass marked Y is

A. Indian ocean B. Mediterranean sea
C. lake Tana D. Red sea

The group of people who followed the route
marked K during their migration were

A. long distance traders

B. farmers

C. traders

- D. pastoralists

The lake marked W is called
A. lake Malawi B. lake Tanganyika

C. lake Kivu D. lake Chad

Which of the above countries is not crossed
by the equator?

A. Tanzania B. Uganda

C. Somalia D. Kenya

The best way of encouraging people in

Kenya to obey the law is by

A. educating people on the importance of
observing the law

B. employing more police officers to
enforce the law

C. rewarding people who obey the law

D. keeping the law breakers in prison

Three of the following are benefits of

forests. Which one is not?

A. They encourage soil erosion

B. They protect sources of watcr

C. They provide employment
opportunities to many people

D. They are a home of wildlife

44,

45.

46.

47.

48.1

49.

50.

S1.

The North- Eastern paii of Kenya is sparsely

populated mainly because

A.ithas poor roads and no railways

B. it is very hot and there are few towns

C. it has low rainfall and infertile soils

D. itis dry and insecure

Nabongo Mumia was made a senior chiefin

1906 by the colonial powers. The title given

to him was

A. Olukuyamba B. ChiefKiruka

C.Head Chief . Paramount Chief

Which one of the follow iz is not a duty of

the County Governor?

A. To coordinate the word of the county
administration

B. To initiate deveioprmenin the county

C. To make laws for the county

D. To head the county e 1V

A good citizen should ¢

following except one. \V!

A.Hoard goods

B. Have patriotism

C. Be obedient

D. Practise justice

Miombo woodlands in Central Tanzania is a

hostile environment mainly because of

A. its poor natural vegetation

B. its cool and dry climate

C. the presence of tsetse flies

D. the presence of the wild animals

The mouth of the river Nile is in

A.Mediterranean sea

B.Indian ocean

C.The Red sea

D. The lake Victoria

In which part of Eastern: A frica is the

mangrove vegetation found?

A.Inthe Nyika plateau

B. In the plains

C.Inthehighlands

D. Along the Coast

Which one of the follow1ing was not a duty

of traditional elders in £ fcan societies?

They

A. encouraged communitics to ficht one
another

B. helpedsolving disput::s

C. were unmarried men znd vwomen

D. helped in protecting the communities as
warriors

@ich one is it?
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